JL_

Multiplying and Dividing Rational Numbers

Name:

Solve each problem.

1) 15.14-(-64) =
2) 2-18.03=
3) 85+ (-68.04) =
4) 39.7+209=
5) 66-(-81) =
6) 56.08 - (-87.3) =
7) 66-(-36) =
8) 59+ (-6) =
9) 62.616-29=
10) 22.8+50=
11) 85-(-80.497) =
12) 82+ 35579 =
13) 15.002 + (-33) =
14) 49.72-(-33) =
15) 6.007 - 85.2=
16) 63-32.7=
17) 93.075- (-83.04) =
18) 74.154 + (-20) =
19) 59+ (-76.01) =

20) 52+ (-81) =
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ﬂh Multiplying and Dividing Rational Numbers Name:. Answer Key

Solve each problem. Answers
1) 15.14-(-64)= 79.14
1 79.14
2) 2-18.03= -16.03
2 -16.03
3) 85+ (-68.04)= 16.96
3 16.96
4) 39.7+209= 4179
4 41.79
5 66-(-81)= 147
) 8] 5. 147
6) 56.08-(-87.3)= 143.38
- 6. 143.38
7) 66-(-36)= 102
) 0= 12 7. 102
8) 59+ (-6)= 53
) ¢o 8. 53
9) 62.616-29= 33.616
- 9. 33.616
10) 22.8+50= 72.8
- 10. 72.8
11) 85-(-80.497) = 165.497
12) 82+ 35.579= 117.579
) B2+ »  117.579
13) 15.002 + (-33) = -17.998
) +(39)= 4798 s -17.998
14) 49.72-(-33)= 82.72 W 8272
15) 6.007-85.2= -79.193 s -79.193
16) 63-32.7=_ 303 n 30.3
17) 93.075- (-83.04) = 176.115 o 176.115
18) 74154+ (-20) = 54.154 s 54154
19) 5.9+ (-76.01) = -70.11 o -70.11
20) 52+ (-81)=  -29 . _29
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JL_

Multiplying and Dividing Rational Numbers

Name:

Solve each problem.

Answers

72.8
102
143.38

41.79
16.96
5]

147
79.14
165.497

117.579

-16.03
33.616

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

15.14 - (-64) =

2-18.03=

85 + (-68.04) =

39.7+2.09 =

66 - (-81) =

56.08 - (-87.3) =

66 - (-36) =

59 + (-6) =

62.616 - 29 =

22.8+50=

85 - (-80.497) =

82+ 35579 =

10.

11.

12.
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